AP Calculus AB 4-2, 4-6 Morning Review Name

Calculators permitted.

3
1. Find the sum: Z [(2i +1)* = (3i + 1)3]

i=1

2. Use Sigma notation to write the sum:

7\/§+7\/Z+7\/_5_+7\/_6_+.. 7\/;1‘

21 64 125 216

n

3

3. Use 4 middle rectangles to approximate the area of the region bounded by
fx) =3 + 2x2, the x-axis, x= 1, and x = 7.

4. Use the table of values on the right to estimate X 1 5

the below:

Use 3 middle rectangles with intervals
indicated by the table to estimate the
area between the curve and x-axis on
(1, 15]

fx) |4 |2

Use 3 right-handed rectangles with
intervals indicated by the table to
estimate area between the curve
and x-axis on [5, 11]

C.

Use 4 trapezoids with interval indicated
by the table to estimate area between the
curve and x-axis on [6, 15]

5. Given the region bounded by g (x) =3 — 2x?, the x-axis, x = -1, and x = 1. Use the limit definition to

find the exact area of the region.
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Calculators permitted.

3
1. Find the sum: Z [(2i +1)* — (3i+1) ]

i=1

2. Use Slgma notation to write the sum:
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3. Use 4 middle rectangles to approximate the area of the region bounded by
7 4/\(5)}(/7:»)+I5 {(3.25) +

f(x) 3+2x the x-axis, x = 1, andx
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4. Use the table of values on the right
the below:
b.

Use 3 middle rectangles with intervals
indicated by the table to estimate the
area between the curve and x-axis on [1,

15]

5 4(s)e 54(8) 4 103
5(2)+5(3)+4 (L)
49|

e

5. Given the region bounded by g (x) =3 — 2x?,

find the exact area of the region.
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Use 3 right-handed rectangles with
intervals indicated by the table to
estimate area between the curve

and x-axis on [5, 11]

1)+ 24(8)+34(1r)
[(D)+ 2(3)+3(1)
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Use 4 trapezoids with interval indicated
by the table to estimate area between the
curve and x-axis on [6, 15] A= w/, /
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the x-axis, x = -1, and x = 1. Use the limit definition to
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